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The figures in the margin indicate full marks
Jor the questions

. Answer the following questions (any ten) :

1x10=10
Coq PR TR B (R coreent W)

(a) What is aggregate supply?
AfAF e ew ¥ 2

(b) Write the meaning of effective demand.

SAfeFw oI wref &t |
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(2)

{c) Who first coined the term Tliquidity
preference’?" R
“OIRen- S’ R @A A ffker 2
(d) What does LM curve denote?
LM R & @™ ?
(e) Define multiplier.
@Y e fean |
() What is marginal propensity to
consume?
ofe ol ageret 2
(g) Write the meaning of transfer payments.
W 2w N AR wef forat |
(h) What is creeping inflation?
B R RS Wi B2
(i) What is Phillips curve?
Rferr @ Ri2
() Write the meaning of demonetization.
R wef By |
(k) What is meant by full employment?
o1 e o e & Jomw 2
22A/1129
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(3)

() Write the meaning of balance of trade.
e o = B |

(m) Define exchange rate.

R 23 ik o o

(n) What is effective exchange rate?

wen REm e &2

(o) Forex is

( Fill in the blank )
Forex S~ ___ | '
(AR 51 o[ 1 )

2. Answer any five of the following questions :

2x5=10

@O 2PPTRA R e <lisbr e foray

. (@) Distinguish between long-run period

and short-run period.
R e 2T TS ~133 (et |

(b) What are the factors determining
aggregate demand?

AR SRR FefRermiRt Somrmar £ R o

(¢) Distinguish between
deflation.

TR o SRR W1 el Refy 7 |

inflation and

/
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(d)

(e)

(4)

What is meant by demand pull
inflation?

RIEGEECR R RICR= !

Mention two features

_ of foreign
exchange market,

(b)

()

(S)

State the limitations of IS-LM analysis.
IS-LM Reges ANRaed IF 34 |

Differentiate between aggregate demand
function and aggregate supply function.
AEE (35) SRR T SF ARES () @M=
T G ~A1FS (7Sl |

ot R qere 1 CafRies Sray 3 |
! (d) Discuss the concept of multiplier as put
() Name two main types of exchange rates. forward by Keynes.
R 21 51 oo 1w o (FECH SISIRCGIA ST ARAB ST 36 |
(g9) What is meant by a deficit in balance of (e) Distinguish between current account
payments? and capital account.
ﬁﬁm«wmﬁmﬁsmﬂ, sfere 351l I e RB1o e #frefey B |
(h) Write two causes for shift ; Discuss the components of aggregate
hift in aggregate Y
demand curve towards right hang demand.
TR SR @1 Gt et T TP (35) DR AN SCeoet 1 |
fora |
# (g) Discuss the structure of foreign
iy exchange market.
Nnswer any fo :
y four of the following questions : el Rivem qe3 907 ey s 4 )
=20
O TR R pray IR5 Ty i (h) Explain how the exchange rate is
fern determined and mention the factors for
(@) What are the Component exchange rate determination.
; n
SUPBLY? Briefly eypiam | ) CESreEAte fafe 2 oot PR 21 2 e R 2w
TRET Gormer & ' e 917 SAMIPTR ScEe 3947 |
TR R 2 vy a fo
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(6)

4. Answer any four of the following questions :

10x4=40
Wﬁﬂz‘q‘mﬁmﬂﬁﬁa%m:

(@ What are IS and LM curyesp Discuss

-LM Gy
CAPIBICT oo <oy |
(b) What are the assumptions apqg
limitations of multiplierp
BT Sy v SRR &9

(c) Explain' the causes of
cost-push inflation,

m&wmﬁxsww—?{%wﬁ@
AT 4 |

demand-py and

Wﬁaww

(d) Mention the featu

res of inflation and
how it can be con

trolled,

22A/1129 ( Continued )

TR

i

()

(h)

(t)

0)
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(7)

PC on AD curve.
! ffect of M

Explain th:g;’egate demand curve slope
Why does

(e v C:g; ColeT T ) 3 1
zﬁm%m%ﬁﬂq
wifzAn IO

lain how IS curve is derived.
|
Expm ca SR T 2 A A
1S

egate
the causes of excess aggreg
DiSCﬂSZ and ways to correct them.
deman

SR Il S 2 A
S

e the relationship between
AnalY_Zn and unemployment.
qgrﬁ%inﬂauo o @l SER Ee 4P TR
i
e 39
lain the Keynesian theory of
Exp ain
inflationary gap. I
R TErRS e ST M I
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